Відповіді
11 клас

1. в

2. б

3. б

4. а

5. б

6. б

7. г

8. 1 – А;
2 – В;

3 – Г. 

9. в) – 75л

 Дано:                              5л        хл
V(C2H4) = 5л

С2Н4 + 3О2   →  2СО2 + 2Н2О
                                      22,4л     67,2л

V(пов) - ?
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V(пов) = 15л [image: image4.png]


 5 = 75л

10. в) - С8Н16
 Дано:


Мr = 4[image: image6.png]


28 = 112
m(CxHy) = 1,12г

в 22,4  міст  12г (с)
V(CО2) = 1,792л

1,792л  ―  хг
     н. у.

m(H2О) = 1,44г
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Днс = 28


СхНу - ?    


в  18г (Н2О)  міст  2г(Н)





1,44г  ―  уг
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m(CxHy) = 0,96г + 0,16г = 1,12г
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СН2

Мr(СН2) = 14      (СН2) [image: image14.png]


8 – С8Н16
